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Question Number : 1 Question Id : 67809416824 Display Question Number @ Yes Single Line Question Option : No Option
Oricntation : Vertical
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Question Number @ 2 Question Id : 67809416825 Display Question Number @ Yes Single Line Question Option : No Option
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(Question Number : 3 Question Id : 67809416826 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

If two rows or two colunms of a deternunant are identical then the value of the determinant is

Options :
™

| -

Cuestion Number : 4 Question Id : 67809416827 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

265 240 219
The value of 240 225 198] 1is
219 198 181
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(Question Number : 5 Question Id : 67809416828 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Yertical
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s D

Options :

.3 = LN
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Question Number : 6 Question Id : 67809416829 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
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Question Number : 7 Question Id : 67809416830 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
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Cuestion Number : 8 Question Id : 67809416831 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 - -
IftanA = - and tanB = < then tan(A — B) =
Options :

1
|7

-1
27

1
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Question Number : 9 Question Id : 67809416832 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The value of cotZA + tanA —

Options :
| SInZA
+ CO0S2A

sec2A

s

- cosecZA

P

Question Number : 10 Question Id : 67809416833 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :
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Question Number : 11 Question Id : 67809416834 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :
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Question Number : 12 Question Id : 67809416835 Display Question Number @ Yes Single Line Question Option : No Option
(wrientation : Vertical

The value of c0s20° 4 cos100° + cos140° =

Oplions :

O

s
'—
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The value of Y a(b? + ¢?)cosA is

Options :
| 2abce

s

Question Number : 14 Question Id : 67809416837 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. 9 L T T & O T
The value of (a — b)*cos® (E) + (a + b)?sin® (E) is

Options :

6

» O

CS

L

; C°

Question Number : 15 Question Id : 67809416838 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 .
The value of 2tan (E) + tan 1 (-;) 15

Options :

, w4

.;r[l,-'-':}
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Question Number : 16 Question Id : 67809416839 Display Question Number @ Yes Single Line Question Option : No Option
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Oplions :
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(Question Number : 17 Question Id : 67809416840 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

4 1 -1 - it 5 :
Iftan™'x+ tan™'y + tan~'z = T then the value of xy + yz + 2x 1s

Oplions :

L=l
1.3
300
4.1

Question Number : 18 (Question Id : 67809416841 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The modulus of a complex number v3 +1{ 1s

Oplions :
-

L. ==

s
I-2

Cuestion Number : 19 Question Id : 67809416842 Display Question Number : Yes Single Line Question Option : No Option

Mrientatinn « Verticral

collegedunia:s

India’s largest Student Review Platfarm



Options :
| 2cosn0
» -2 cosnt

| 3 cosf

Ll

2 sin nf
4,

Question Number : 20 Question Id : 67809416843 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

The centre of the circle:x? 4 y2 2x 1 6y —6=0 13

Oplions :

¢ (1:3)

4
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T

R

e
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f—

L (-1.3)

Question Number : 21 Question Id : 67809416844 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of the circle: 5x% + 5y? — 6x + 8y — 75 =0 is

Oplions :

| -4

L
-2

TJ_J

Question Number : 22 Queslion Id : 67809416845 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ecnation of the narabola with vertex (2. —1) and foens (2. —3) ic
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-

x2+4x -8y 12 =0

o

%% 4 5x —~8y - T1L =0

Cuestion Number : 23 Question Id : 67809416846 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The centre of the ellipse: 9x% + 25y% — 18x + 100y — 116 =0 is
Options :

(2 1)

(~1:—2)

Lo

(L, 2)

e

z. (3r2)

(Question Number : 24 Queslion Id : 67809416847 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥

- - X B ;
The focus of the hyperbola———=1 15
’ 25 144

Options :

 (-13,0)

. (13,0)

, (13,1)

Cuestion Number : 25 Question Id : 67809416848 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the major axis of the ellipse: 4x 2 -+ 3y? = 48 is
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(Question Number : 26 Queslion Id : 67809416849 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v —1
r—1

The value of limy_y

Options :
i 3

—
]

Question Number : 27 Queslion Id : 67809416850 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_ a+bx | o ) | |

It y= o then the derivative of ¥y with respect to X 1s
Options :

a‘+h-
{ (b—ax)?

aZ+h?
v (b+ax)=

g% -b*
_ (b-ax)?
.

a+b
4 (b—ax)?

Ouestion Number : 28 Ouestion Id : 67809416851 Displav Ouestion Number @ Yes Sinele Line Ouestion Ontion : No Obption
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Options :

1 (x — 3)x%e®

(e— 2)n"e®

-

(x 1 3)x?%e*

)

(x — L)x3eX

(Question Number : 29 Queslion Id : 67809416852 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ay

X

If v =secx +tanx then 1S

Options :

| Y cosx
, ysecx
. —Y8Inx
J

tan x
47

Question Number : 30 Queslion Id : 678094168533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2+3sinhx

HTy= —— then the derivative of y with respect to x 18
2+2sinhia
Options :
5coshx

 (3+2sinh Ty

Ssinha

(3+2sinhx)<

-

5sinx

; (3-2coshx) =
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Question Number : 31 Question Id : 67809416854 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g fl—cusx ay .
[fy= |—— then =— 15

\ l14+cosx (o

(Iptions :

- A
sec” (—)
1 2

Lo

Question Number : 32 Question Id : 67809416855 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the curves y = x2% 4+ 3x — 7 and y2 =2x +5 at(2,3) is
Options :

1 tan =2

-

seclh =2

. cosh =1

mé =3

(Question Number : 33 Question Id : 67809416856 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The range of X for which the function x® 3x?  45x | 2 isincreasing with X is

Options :

. (3,-5)
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, (=35)

Question Number : 34 Queslion Id : 67809416857 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of the function 2x2 — 12x2 4+ 18x 4+ 5 1is

Oplions :
f, L3

12

-

s

P
i
_h

(Question Number : 35 Question Id : 67809416858 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o . i . ou du
[fuis a homogeneous function of x and y with degree n then x 5 | P
Options :

1. —nu
s néu
. Nu
J,
2 i
g Ut u

(Question Number : 36 Question Id : 67809416859 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of | ———dx is

A

Options :

| 2sinvx t ¢
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_2simx + ¢
.

; smyx 1 ¢

Question Number : 37 Question Id : 67809416860 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

. ax ;
The value of r = I3
Va-—x<

Oplions :

1 AL
sin~ 1 (—) fes
2 a
. s X
ginh (H) + C
3 g
. a
i~ (—) +C
4. +

Question Number : 38 Question Id : 67809416861 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

ax

The value of ( e

B s o B o o [

Oplions :

1,
1 2x+1
~cot 1( )‘l—C

) HA
1 < (2v+1
~sin 1( +c

3, 4

4 {21 1
Stan | - )—rC
; 4
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The value of J logx dx is

Oplions :

| xlogx+x+c¢

leegx x | c

xlogx — %+ ¢

]

b
il

:
xlogk ——+
2

Question Number : 40 Question Id : 67809416863 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. d — 1 :
The value ot Jl (vx + _T) dx 1s
VX

Oplions :

20
I a3

_ 0

10
: 3
J.

J._S_
g 7

Question Number : 41 Question Id : 67809416864 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

% M2 L e
The value ot ’ sin? x dx 1s

Options :
T
1 I 2
T
S 4
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Cuestion Number @ 42 (Question Id : 67809416865 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area enclosed between the curve y? = 4ax and the line x = 2y is
Options :

64 .
— $(]. UNIts

64

— 8(. UNIts

65 :
: 5. units

L

63 .
: s¢.units

Cuestion Number : 43 (Question Id : 67809416866 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s 1 1 1 ,
The value of limy [— + — 4+ —] is
n+1 n+2 n=n

Options :
, log?2

. log3
9 log?2

logn

(Question Number : 44 Question Id : 678094168067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Form the differential equation by eliminating the arbitrary constant @ from ay” = x?3

Oplions :
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1 Ll LX

dy _ 2
) (11 3Y

v _x
348 )

ty _ 2y
4 8 % K

Cuestion Number : 45 (Question Id : 67809416868 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_—

The solution of 1 — ¥2dx ++v1 —x2dy =0 is

(Iptions :

,cosTtxtcosTty=c

) cos lx fsecTlx=c
3.
W T T
sin “x +8smn "y=¢c
4.

Question Number : 46 (Question Id : 67809416869 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: .4y | :
The solution of e (4x +v +1)?% is

Oplions :
1 =0 I/'-ft'l'ﬂb"[—l\ .
—tan ‘L,—):'X—‘—C
Z 2 y
1.
1 1 (4x+y+1
“cot T |/——)=x+c
R \ 2 .

1 4 [dr+yv+1
- =tan l(f) =x +€

£

e
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(Question Number : 47 Question Id : 67809416870 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i i e ; ; 3 ;
The solution of exact differential equation 2xy dx + x“dy = 0 is

Options :

P
Ry
s XA =

By
; Xy =c¢
4 x2y3 = ¢

(Question Number : 48 Question Id : 67809416871 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: . ay _x .
The solutionof _—ty =e Y s

Options :

) (x + cle™™

(x—c)e*
(x+c)e?
3

C LAY 2
i (x + c)e™*

Question Number : 49 Question Id : 67809416872 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (D¢ + 5D + 6)y = eV is

Options :
—p~X
;| 12
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Cuestion Number : 50 (Question Id : 67809416873 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The complementary function of (D? + 3D + 2)y = 8sinSx is

Options :
cie™™ 4 e
1.

]

Physics
Number of Questions: i

Display Number Panel: Yes
Group All Questions: No

Cuestion Number : 51 Question Id : 67809416874 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not the unit of energy?

Options :
1 watt second

. Pascal metre
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4 Kilowatt hour

Cuestion Number : 52 Question Id : 67809416875 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The height of Mercury barometer is 76 cm and density of Mercury is 13.6 g/cc. The

corresponding height of water barometer in Sl system is

Options :
10.336 m

103.36 m

-

s
LA
o
—
-
4

4 1.0336m

(Question Number : 533 Question Id : 67809416876 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Angle made by the vector (V3 i + j) with the X-axis is
COptions :

1 /2

/4

-

/3

ey

4 TU/0

Cuestion Number : 54 (Question Id : 67809416877 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The minimum number of unequal forces in a plane that can keep a particle in equilibrium is

Options :

. 4
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Question Number : 535 Queslion Id : 67809416878 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is thrown with a velocity of (47 + 3j) m/s. The maximum height attained by

the body is (g=10 ms™)

Options :
[ 2.0m

-

45 m

| 0.8 m

[N

| 0.45 m

Question Number : 56 Question Id : 67809416879 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A person in a lift, which ascends up with acceleration 10ms™, drops a stone from a height of

10m. The time of descent is (g=10 ms'z)

Oplions :

| 05s

w 1 5

1.55

s

(Question Number : 57 Question Id : 67809416880 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a projectile, the ratio of maximum height reached to the square of time of flight is

(Iptions :
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Question Number : 38 Question Id : 67809416881 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of distances travelled by a body, starting from rest and travelling with uniform

acceleration, in successive intervals of time of equal duration will be

Options :

1. 1:2:3

e

-

3 15305

1286

=

Question Number : 59 Question Id : 67809416882 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A tforce of 12 N acts on a body of mass 4 kg placed on a rough surface. The coefficient of
friction between body and surface is 0.2 and take g= 10 ms ™. The acceleration of the body in

ms = is

Oplions :

L

—

(Question Number : 60 Question Id : 67809416883 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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brakes will stop the train in a distance which is

Oplions :

. d/f2

-

4d

]

4 d

Question Number ;: 61 Question Id : 67809416884 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The product of linear momentum and velocity of a body represents

Oplions :

Kinetic energy of the body

Potential energy of the body
Half the Kinetic energy of the body

Twice the kinetic energy of the body

Question Number : 62 Queslion Id : 67809416885 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A man weighing 60 kg eats plum cake whose energy content is 9800 calories. If all this

energy could be utilised by him, he can ascend to a height of

Options :

[ 17 m

» 100 m

70m

s

4 60m
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Orientation : Yertical

A crane can lift up 10,000 kg of coal in 1 hour from a mine of depth 180m. If the efficiency of

-
=

)

the crane is 80%, its input power must be (g=10 ms

Options :

| 62.5kw
. 6.25 kW

50 kw

(]

5 kW

Question Number : 64 Question Id : 67809416887 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The graph of acceleration as a function of displacement in the case of a body executing
simple harmonic motion is
Options :

1 Parabola

-

Hyperbola

Straight line with positive slope

Straight line with negative slope

Question Number : 65 Question Id : 67809416888 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The pendulum of length 'L swings from mean position toc mean position 'n’ times in one

second. The value of acceleration due to gravity is

Options :
| el

TN
s 2mn’L
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Question Number : 66 Question Id : 67809416889 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

When a source of sound is in motion towards a stationary observer, the effect observed is

Options :
Decrease in velocity of sound

. Increase in velocity of sound
increase in frequency of sound

decrease in frequency of sound

Question Number : 67 (Question Id : 67809416890 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of a male person is different from that of a female person hecause

Options :
1 Two sounds have different phases

Two persons are of different size
Two sounds travel with different velocities

Two sounds have different pitch

Question Number ; 68 Queslion Id : 67809416891 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the sound absorption of a hall is changed by 2%, then the percentage change in the

reverberation time is

Options :
| 2%
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3 1.»’:2!

No change
4.

(Question Number : 69 Queslion Id : 67809416892 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following process, the internal energy of the system remains constant?
Options :

Adiabatic

P

. lsothermal
|5<:1i?:arir;.

lsochoric

o

Question Number : 70 Question Id : 67809416893 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

Heat required to raise the temperature of one gram of water through 1 Kis

Oplions :
1.0 Kcal

-

-

D1 Kcal
5 0.01 Kcal

i 0.001 Kcal

Cuestion Number : 71 Question Id : 67809416894 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific heat of a gas in an isothermal process is

Oplions :
| infinity
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Finite positive
J.

; Finite negative

Question Number : 72 Queslion Id : 67809416895 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Specific heat of aluminium is 0.25 cal/g/°C. The water equivalent of an aluminium vessel of
mass one kilogram is

COptions :

40 cal/°C

-

400 cal/°C

250 cal/~C

25 ea 1/°C

Ja

(Question Number : 73 Question Id : 67809416896 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What should be the percentage increase in the pressure so that the volume of a gas may

decrease by 5% at constant temperature?

Options :

Question Number : 74 Question Id : 67809416897 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical
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function is 2.2 eV, then the wavelength of incident radiation is

Oplions :

. 4000A
2000A

3000A

(]

, 20004

(Juestion Number : 75 Question Id : 67809416898 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the angle of incidence of a ray is greater than the critical angle at the core — cladding
interface in an optical fiber, then the ray travels
Options :
in the core
in the cladding

in the buffer

along the interface

Chetmstry
Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Queslion Id : 67809416899 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pauli's Exclusion principle states that two electrons i same orbital have

Options :
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cdifferent spins
_ Opposite spins
J.

verncal spins

Cuestion Number : 77 Question Id : 67809416900 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Orbits 1n which electrons move according to Bohr are
Options :

. elliptical

cvlindrical
g circular

i oval

Cuestion Number : 78 Question Id : 67809416901 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Phosphorus has an atonmuic number of 15, A stable phosphorus atom has an electronic
configuration of

Oplions :

2 ? -0
) 15_25'.-_1J6:ﬁp'

L AL
C 1s725729%3s3p 4
a.

: 15311}61d?

Question Number : 79 Question Id : 67809416902 Display Question Number : Yes Single Line Question Option : No Option

Orrientation : Vertical
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Oplions :

. Covalent

-

- Tonic

Polar

Ll

~vander Waals

d=

(Question Number : 80 Question Id : 67809416903 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bond formed due to sharing of electrons 1s

(Iptions :
. Tonic bond

i Netallic bond

Polar bond

Ll

~Covalent bond

N

Question Number : 81 Question Id : 67809416904 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The normality of solution obtained by dissolving 5.3 grams of Na-CO; mn 1 litre
solution 15

Oplions :

; LN

-

0.IN

0.05N

L]

, 0.5N

Question Number : 82 Question Id : 67809416905 Display Question Number @ Yes Single Line Question Option : No Option

Orientation @ Vertical
Fy s
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Options :

[ XﬁgC()g

> Na('l

L
|

Cuestion Number : 83 Question Id : 67809416906 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5 moles of a solute 15 dissolved m 10 litres of solution. What 1s 1ts molarity?

Options :

12 M

=+
-2
"
==

]
-
rn
';;;7-J

C0.2M

B [

(Question Number : 84 Question Id : 67809416907 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Process m which acids (H ) and bases (OH) react to form salts and water 1s called
Oplions :

1 Neutralization

. Halogenanon

Hydrogenatuon

3 Hvdrolvsis

(Question Number : 85 Question Id : 67809416908 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Options :
, Lewis acid

| [ewis base

Lo

Bronsted-Lowry acid

p Bronsted-Lowry base

(Question Number : 86 Question Id : 67809416909 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One Faraday 1s equal to

Oplions :

| 99650 C

-

193100 C
. 96300 C

194500 C

i

Question Number : 87 Question Id : 67809416910 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The cell reaction of a cell is Mg(s) + 2 H (aq) — I\-’Ig3+{;a(1j} + Hx(g). If the standard

reduction potential of Znis —2.372 V. then the emtf of the cell 15
Options :
{ FL.32 N
g = LTIV
; 0.00V

(Question Number : 88 Question Id : 67809416911 Display Question Number : Yes Single Line Question Option : No Option
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Oplions :

. Electrical energy to chenucal energy
Chemical energy to electrical energy
Chemuical energy to free energy

Potential energy to kimetic energy

Question Number : 89 Question Id : 67809416912 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

Mass of substance produced at electrode 1s directly proportional to the quantity of
electricity passed. This 1s known as

COptions :

. Faraday's second law

Faraday's first law
; Newton's third law

; Newton's first law

Question Number : 90 Question Id : 67809416913 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

Hardness of water 1s expressed i terms of equivalent of
Options :
1 Na-CO;

K->CO;

i_\'[g(:q(:)g

]

Ca C(:)3

L ]
gcollegedunlaa
India’s largest Student Review Platform

]



Temporary hardness 1s caused by
Oplions :

. Carbonates of calcium and magnesium
Chlorides of calcium and magnesium
Sulphates of calcium and magnesium

Nitrates of Calcium

Cuestion Number : 92 (Question Id : 67809416915 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The exhausted zeolite bed can be regenerated by washing with

Oplions :

, NaCl

dil. NaOH

-

~dil. HC

L]

Distilled water

45

(Question Number : 93 Question Id : 67809416916 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Corroston 1s an example of

Options :

Oxidation

]

. Reduction

Electrolvsis

]

Halogenation

L ]
gcollegedunlaa
India’s largest Student Review Platform

]



The composition of rust 15

Options :

. Fe(OH);

FCCI_:-,

-

FeO

(]

FE’;O}. XHEO

(Question Number : 95 Question Id : 67809416918 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one ot the following statement 1s not true?
Options :
Natural rubber has the trans-contiguration at every double bond

Buna-S 1s a copolymer of butadiene and styrene

Natural rubber 1s a 1. 4-polyvmer of 1soprene

o

In vulcanization. the formation of sulphur bridges between different chains
makes rubber harder and stronger

(Question Number : 96 Question Id : 67809416919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The monomers of Buna-S rubber are

Options :
Styrene and butadiene

1
Styrene and 2-propene
, [soprene and butadiene

L ]
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Question Number : 97 Question Id : 67809416920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The plastics which soften when heat 1s applied with or withourt pressure. but require
cooling to set them to shape are called as

Options :
1 Thermosoftmg materials

Thermosetung materials

Thermoplastic materials

Ll

; Thermostatting materials

Question Number : 98 (Question Id : 67809416921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statement 1s not true about ideal tuel?

Options :
. High caloritic value

High moisture content

-

- Low cost

(]

, Moderate 1gnition temperature

Question Number : 99 (Question Id : 67809416922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enviromuental pollution attects

Oplions :

Humans onlv
i J

. Plants only

gcollegeduniaa
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) Both abiotic and biotic components

(Question Number : 100 Question Id : 67809416923 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Laver of atmosphere i which ozone laver lies 1s
Options :
. Troposphere
Stratosphere

Exosphere

, Mesosphere

Ceramic Tecly
Number of Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 67809416924 Display Question Number
Owientation : Vertical

The word "ceranmuc’ 1eans
Options :
1 soft materal

2. hard matenal
3. bumnt materal

4. dry material

Question Number : 102 Question Id : 67809416925 Display Question Number

Orientation : Vertical

Which of the followimg 15 not a characteristic property of ceratmic material?
Options :

. high temperature stabaity

e

2. high mechanical strength

(]

- low elongation

4, low hardness

10logy

*: Yes Single Line Question Option : No Option

: Yes Single Line Question Option : No Option

collegedunia:s

India’s largest Student Review Platfarm



Orientation : Vertical

Ivajor mgredient of traditional ceramics 13
Options :

1. silica

2. tron

3. gold

4. hiags

(Question Number : 104 Question Id : 67809416927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s not a major contributor ot engmeermg ceramics”

Oplions :
e

s

Question Number : 105 Question Id : 67809416928 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The followimg ceranuc product 1s mostly used as pigment m paints

Options :

| T10,

-

$i0-

TO»

s

10>

Question Number : 106 Question Id : 67809416929 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

IVost comunercial glasses consist of
Oplions :
l. Barna

e

2 soda

- Titama

(]
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Orientation : Vertical

Hot 1sostatic pressing 15 not a viable option 1f the cluef criterion 1s
Options :

1. strength without grain growth

_. lost cost

3. Zero porosity

4 processng refractory ceranics

(Question Number : 108 Question Id : 67809416931 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Durmg smiermg, densification 15 not due to
COptions :

1. atomic diffusion

2 osurface diffusion

3. bulls cdiffusion

4. gram growth

Question Number ;: 109 Question Id : 67809416932 Display Quesiion Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which type of microscope 18 used to determine particle diameter between 10 to 0.001 w?
Options :

1. Optical mucroscope

2. Electron microgcope

3. Atonuc probe tmicroscape

4. Trangnussion electron nicroscope

Question Number : 110 Question Id : 67809416933 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Ceramics having nuclear applications can not be used ag
Options :
l. moderators

-

2 coolants
3. fuels

4 uutators

Question Number : 111 Question Id : 67809416934 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The truneral wallostatute 18
Oplions :
1. Calciwn silicate

-

2 Calenn Alununate

C Calcin fermite

]

4. Calcnun magnesite

CQuestion Number : 112 Question Id : 67809416935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Nancity af Alvimiima 1 omier 1<
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Question Number : 113 Question Id : 67809416936 Display Question Number : Yes Single Line Question Option : No Option
(wientation : Vertical

Hadmess of Cormundum on IMoly' ¢ scale 13
Options :
|

-

22

3.9
4 10
Question Number : 114 Question Id : 67809416937 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical
The chenucal tormula of Tale 15

Options :
32O 48105 LOHAO

3O $105 HA0O

MO $105 HaO

L

CQuestion Number : 115 Question Id : 67809416938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Biotite 15 Ieiown as

Options :

1 VWhite niuca
2 Blacl nmuca
3. Red nuca

4 Brown mica

Question Number : 116 Question Id : 67809416939 Display Question Number : Yes Single Line Question Option : No Option
(wientation : Vertical

Which of the following 15 used to measure volumne?

Options :
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3. Orsat apparatus

4. Rees-Hugil flask

Question Number : 117 Question Id : 67809416940 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The Blain's apparatus 15 used to measure the
Options :

I Surface area

2. Particle size

3. Density

4. Porosity

Cuestion Number : 118 Question Id : 67809416941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mesh number of a screen 15
Oplions :
1. The number of operungs per square mch

-

2 The nmumber of wires with wluch it 15 made

]

- The total number of openings per inear cim

4. The number of opeung per inear inch

Question Number : 119 Question Id : 67809416942 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which test gives the result of refractormiess
Oplions :

1. RUL

2 PEE

3. WIOR

4. Apparent porosity

Cuestion Number @ 120 Question Id : 67809416943 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The RUL 15 combiied sffect of
Options :
I Temperature and Tune

-

- Tempeature | Pressure and Tune

L

., Tune and Pressure

(]

4. Tiune Tenperature and Rate

Question Number : 121 Question Id : 67809416944 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

oalt glaze 15 used on
Options :
1. Earthen ware

e

2 Stone ware

3. Porcelam
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Question Number : 122 Question Id : 67809416945 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Andreasen method 18 vged to determmne
Options :

1. Particle size distribution

2. Plasticity

3. nurface area

4, Violume

(Question Number : 123 Question Id : 67809416946 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which refractory undergoes bursting in contact with iron ozude?
Options :

1. Periclage

~. Dolomite

3. Chrome

4 Bullite

(Question Number : 124 Question Id : 67809416947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

High tension msulators are macde from
Options :

1. Hoft porcelan

. Hard porcelain

3. Earthen ware

4 Stone ware

(Question Number : 125 Question Id : 67809416948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The soundness of cement 15 measured by
(Iptions :

1. Blain''s apparatus

2. Hydrometer

3. Autoclave

4 Wicat apparatus

Question Number : 126 Question Id : 67809416949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Iodern method of making sheet glass 13
Options :
1. Pressmg

* Blowmg

L

]

. Centrifugal casting

4. Floating

Question Number : 127 Question Id : 67809416950 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical
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Options :

1 BaTi10;
CaT:03
3 MeT10;

; CaMgTi0;

Question Number : 128 Question Id : 67809416951 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followiig 15 a prianary clay”
Oplions :

1. Ball clay

2. China clay

3. Fue clay

4. Than ball clay

Question Number : 129 Question Id : 67809416952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

otudy of earth 15 called
Oplions :
1. Geology

~. Petrology

]

. Wineralogy

4. Oligology

Question Number : 130 Question Id : 67809416953 Display Question Number : Yes Single Line (Question Option : No Option
Orientation : Vertical

A blast furnace heath should preferably be made of
Oplions :
. Fueclay bricles

-

2. Carbon brclks

CArcon bricks

(]

4 Verpucullite bricks

Question Number : 131 Question Id : 67809416954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following refractory oxides volatilizes m presence of water”

Options :

BaO
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Cuestion Number @ 132 Question Id : 67809416955 Display Question Number : Yes Single Line Question Option
Orientation : Vertical

What 15 the stage of clay when it 13 very soft and malleable?
Oplions :
1. Leather Hard

-

2. Bone diy

]

. Bisqueware

4 Plastic

Question Number : 133 Question Id : 67809416956 Display Question Number : Yes Single Line Question Option
Owientation : Vertical

What 15 a kil used for”
Options :
1. Cooking

e

. Burning

L]

 Fumg
4. Neltmg

Question Number : 134 Question Id : 67809416957 Display Question Number : Yes Single Line Question Option
Owientation : Vertical

What 15 the term for clay that 15 watered down to the consistency of sour cream?
Options :
1. slab

2. Leather Hard
3. olip

4. Glaz

fat

Question Number : 135 Question Id : 67809416958 Display Question Number : Yes Single Line Question Option
Owientation : Vertical

Which of the following has lugh dielectric constant
Options :
1. Earthen ware

2 Porcelan
3. Bone clutia
4, Stone ware

(Question Number : 136 Question Id : 67809416959 Display Question Number : Yes Single Line Question Option
Orientation : Vertical

'|I—|

Why 1s 1t important to remove air bubbles from the clay betore 1t 1s fired”

I VI

: No Option

: No Option

: No Option

: No Option

: No Option
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., 50 that it doesn't crack or break apart when fired
; 1 helps to slip and score better for firng

) Clay needs trapped awr bubbles to help it div

Question Number : 137 Question Id : 67809416960 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What 13 the techtuque uged to remove air bubbles from clay?
Options :

I Wedging

. Nolding

]

HCormg

4. Formung

Question Number : 138 Question Id : 67809416961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What 13 the main element of glaze that malkes it slune lilkke glags after bemg fired?
Options :
l. Hand

2. Wagnesiun
3. milica

4. Cabalt

CQuestion Number : 139 Question Id : 67809416962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What does a FLLUY compound do 1 a Glaze?
Options :

1 It helps the glaze stick and hold to the ceramuics

It helps make the glaze Opaque

-

It lowers the melting pomnt of silica when firing

L

i It alters the colorants 111 various wavs

Question Number : 140 Question Id : 67809416963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tha tetr mrre te 2 matedal ardidet 40 a2 catdieter af 2lasterisitor 4o
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2. Mon-metal
3. Ietal

4 Insulator

Question Number : 141 Question Id : 67809416964 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

What 15 meant by specific surface?
Options :
1. surface area per wut volume

2 surface area per it weght

]

csurface weaght per utut area

4. surface volume per unit weight

Question Number : 142 Question Id : 67809416965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followmg refractory 15 acidic in nature?
Oplions :

1. Hilica

5

.. Wagnesia

- Chromiiun

(]

4 Alumina

Question Number : 143 Question Id : 67809416966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

nelect the correct option which shows mechanical property of ceratic materials
Oplions :
I Mon-crystalline ceramics become biattle below recrystalization temperature

e

2. At tugh temperatures ceranucs have favorable properties

]

. Ceramuc products are resistant to oxidation

4 Ceramics catl be used as moderators

Question Number : 144 Question Id : 67809416967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fesistance to sudden temperature changes 15 lmown as
Options :
1. Thermal expansion

2. npalling registance
3. Chenucal resistance

% PEE

Question Number : 145 Question Id : 67809416968 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Which of the followiig 15 a shaped refractory”
Options :
1. Ionolithic

2. Castables
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Question Number : 146 Question Id : 67809416969 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The monoporossa is a
Options :

1. Hingle fired floor tile
. Double fired floor tide
3. hmgle fired wall tile

4. Double fired wall tile

(Question Number : 147 Question Id : 67809416970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The filter press 18 mamly uged i
Options :

1. Ceranic msulator making

2. Cement malang

3. Glass malang

4. Glaze making

(Question Number : 148 Question Id : 67809416971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The fire clay 15 used m
)

Options :

1 Earthen ware

2 Porcelain
3. Bone Clunha

4 Stone ware

(Question Number : 149 Question Id : 67809416972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Roller hearth laln 15 used for finng
(Iptions :

1. Ceramic tiles

2, Uement

3. Refractory

4. Hantary ware

Question Number : 150 Question Id : 67809416973 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The operating temperature m spray drver for ceramic precursor powder drving 1s
COptions :

| 700-900°C
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, 900-110 e

(Question Number : 151 Question Id : 67809416974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

EME 15 associated with
Options :

1. Resistance pyrometer

. Optical pyrometer

3. Thermocouple pyrometer

4. Radiation pyrometer

(Question Number : 152 Question Id : 67809416975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s a Loadstone?

Options :
; FeO

, FesO

FE_;(:);;

L

Question Number : 153 Question Id : 67809416976 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oolvay process 18 used to prepare
Options :

1. Hoda ash powder

2 othicon carbade powder

3. odicon nitride powder

4. Boron nitride powder

Question Number : 154 Question Id : 67809416977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg compound 15 used to impart amber color m glags?
Oplions :
1. Cand 5

2.Fel

B Bl

]

4. 215
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Which of the followmg 15 a pozzolona?
Options :

. wood

2. cement

3. Fly ash

4. clay

(Question Number : 156 Question Id : 67809416979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hardness of metal base 15 tested by
COptions :

1. Seratch test

2 Tenstle test

3. Impact test

4. Compression test

Question Number ; 157 Question Id : 67809416980 Display Quesiion Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The crystal glass contamis substantial proportion of

Options :
1. Pb

NG
] |

3.Ba

4 5n

Question Number : 158 Question Id : 67809416981 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

A Refining chamber 15 found m

Options :
1. Glass tank fiunace

2 Tunnel laln
C Converter flunace

4 Roller hearth kil

(]

Question Number : 1539 Question Id : 67809416982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Iuffle Tunnel ol 18 vsed for
Oplions :

1. Cerammic ties

-, wamtary ware

3. Cement

4 Glass

Question Number : 160 Question Id : 67809416983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following oxides 1s a must for opacity”
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Question Number : 161 Question Id : 67809416984 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followimg additive 15 used to control the setting of Portland Cement”
Options :
1. Lune

. Gypsumn
3. mocium chiloride

4 Silica

Question Number : 162 Question Id : 67809416985 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The Alite 13

Options :

1. Tricaletum silicate
2. Diacalenum silicate

- Tricalciumn alutminate

(]

4 Tetra calcium aluwmnoferrite

Question Number : 163 Question Id : 67809416986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What 1s the Principal phase of High Alunina Cement?

Options :

p C3A

CA

s

C1Ag

Question Number : 164 Question Id : 67809416987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :

€3S

-
=
-

:
e

i

C4AF

(Question Number : 165 Question Id : 67809416988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following material 13 used as an opacifier m enamels”
Options :

1. bynthetic cryolite

N

> Bofax

. Orthoclase

]

4. Pegmatite

(Question Number : 166 Question Id : 67809416989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The acid resistance of Enameled ware 15 tested with
(ptions :

1. Hydrachloric actd

)

2 Citricacid

sulfuric acid

]

4. ‘Tattatic fctd

Question Number : 167 Question Id : 67809416990 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The maxumum firing temperature used m enamelling 1s

(ptions :

. 1000°C
. 630°C
. 870%
2

) 1240°C
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The Bicherouz process 13 used for making

Options :
1. Glass

2. Cement
3. Refractory

4. Enamel

(Question Number : 169 Question Id : 67809416992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The spalt cooling 15 used to produce
COptions :

1. IVletallic glass

2. Glass fiber

. Foam glass

4. Toughend glass

-

]

Question Number ;: 170 Question Id : 67809416993 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the following oxide 1s not a glass former?
Options :

| B-0;

S10>

-

Question Number : 171 Question Id : 67809416994 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the following 1s not a Nucleating agent?
Options :

| T10>

-

Z1r0) D

yALL®)
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COrientation : Vertical
Calculate the percentage 1onic character of S10; 1f the electro negativities

of S1and O are 1.7 and 3.4 respectively.

Options :

| 61%

51%

IO

s

1290

e

Question Number : 173 Question Id : 67809416996 Display Question Number : Yes Single Line QQuestion Option : No Option

Orientation : Vertical
Atonuc packing factor for Body centered cubic structure is

Options :

[ (.50

o
Lyt
[

s

- 0.80

i

Question Number : 174 Question Id : 67809416997 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Which of the following 1s a piezoelectric ceramic?

Options :

[ AlOs

BaO3

S10-

)
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Orientation : Vertical
Dielectric material means
Options :

1. Insulator

e

2 Conductor
3. ton-conductor

4. Super conductar

(Question Number : 176 Question Id : 67809416999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What 15 the diiving force for diffusion”
COptions :

. difference m temperature

2 difference 1 pressure

3. difference m concentration

4. cooling rate (change i temperature with time)

Question Number ;: 177 Question Id : 67809417000 Display Questiion Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followimg ceramic 13 not used an abragive?
Options :
l. Boron mitride

2 Emery
3. Boron carbide

4 Silicon carbice

Question Number : 178 Question Id : 67809417001 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The maclimable glags ceranuc contams
Options :

l. Zircoma

~. Whca

3. Berrylia

4 Alutnina

Question Number : 179 Question Id : 67809417002 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

On heating at 1200°C china clay yields
Oplions :
1. Alumina and silica

2, Silica
3. Alunmina

4. Nullite and cristobalite

Question Number : 180 Question Id : 67809417003 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical
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Oplions :

+4
s
b_l:
&
[

Question Number : 181 Question Id : 67809417004 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The composition NarQ.11ALO; represents

Options :

; Eta Alumina

Beta Alumina

-

Theta Alumina

; Kappa Alumina

Question Number : 182 Question Id : 67809417005 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

An important stone gaphire 15
Options :
1. Corundum

-

2 Carborandutn

]

apinel

4 Nhca

Question Number : 183 Question Id : 67809417006 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following matenal can be uged for the melting and refuung of glass”
Oplions :
1. Fly ash

e

2. Foamed and granulated blast furnace slag

- Red mud

]

4. Phasphogypsun
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To measure the dengity of glass by float and sinle method, the Dguid mesture used 15
Options :

'_I:T'! T

- 2ylene -Toulene
2. Pyridine+ mtrobenzens
3. N-hezane +Isobutene

4. Alpha-bromonapthalane -Syvin-Tetrabromoethane

(Question Number : 185 Question Id : 67809417008 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For Reparmg of damaged furnace wall by ceranuc welding, wluch of the following matenal 15 used wath refractory powders”
COptions :
1. Aluminnim

e

rEHavebal
3 Iron

4 Silicon

Question Number ; 186 Question Id : 67809417009 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The following 15 used to remove green tint of molten glass:
Options :
l. Fernic omde

e

2 Chrommic ozcde

]

- Wanganese diozide

4 Cobalt oxde

Question Number : 187 Question Id : 67809417010 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The Hard glass contains:
Options :
1. Sodiun and calcium sticate

2 Potassinum atid caleiwn stlicate
3. mociutn and Potasstoim

4 Fotassnun and lead silicate

Question Number : 188 Question Id : 67809417011 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Radiation shield glass m Muclear reactor containg.
Oplions :
. Low lead with manganese

-

. High lead wath bismuth

]

- High lead with cermun

4. Low lead with bariun

Question Number : 189 Question Id : 67809417012 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followimg ceramics 13 uged m malking spark plugs for automobiles?

Oplions :
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- il WAL

]

- Wagnesia

4 Alumina

Question Number : 190 Question Id : 67809417013 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

VWhich 15 niot a Low loss ceratmuc”
Options :
. wteatite
2 Forsterite
3 WWallastonite

4 Rutie

Question Number : 191 Question Id : 67809417014 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whiach of the following 1s a garnet type territe?

Options :

NiFeOy

TITEPE::_{:}L?

-

BaFe12Oi0

s

NiZnFe->Os

(Question Number : 192 Question Id : 67809417015 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followmg 1s a refractory phase in the MgO-S104 system?

Oplions :
| Serpentine
Favalite

<

; Forsterite

2 Monticellite

(Question Number : 193 Question Id : 67809417016 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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3. TiC
4. HIC

(Question Number : 194 Question Id : 67809417017 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followmg 15 a glaze defect”
COptions :
1. Blacle spots

-

2. Spitouts

. Peeling

]

4. Sulphur glaze

Question Number ;: 195 Question Id : 67809417018 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Dunting of wlhitewate bodies 14
Options :
1. Craclang due to thenmally mduced stress

e

2. Crazing after Firmng

]

. Roling out of glaze after fumg

4. Deformation after firmg

Question Number : 196 Question Id : 67809417019 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

he density of Periclase 1s:

Options :
| 2.56

» 410

]
f
th
O

(Question Number : 197 Question Id : 67809417020 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The grog1s .
Options :
I Rejected raw material

L

. Rejected magnesite brick

(]

- Rejected alumina bricl

4 Precalcitied raw material
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The dead burning of Magnesite 1s carried out at;

Options :
1300-1450°C

800-9350°C

-

 1200-1350°C

1600-1750°C

g

Question Number : 199 Question Id : 67809417022 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

The limif of AlLOj3 content 1 Fireclay products 1s:

Options :
| 462

s 6%

s

Cuestion Number : 200 Question Id : 67809417023 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg phase mproves thermal shock resistance of silica bricld?
Oplions :
1. Hilica glass

-

2. Trdynute
- Quartz
4 Cristabolite

]
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